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General Instructions :
(1) The question paper contains 14 questions.
(it)  All questions are compulsory.

(iti) Section A — Question number 1 and 2 are 1 mark source based questions.
Answer to these questions must not exceed 10 — 15 words.

(iv) Section B - Question number 3 to 9 are 2 marks questions. These are very
short-answer type questions. Answer to these questions should not exceed
30 words.

(v)  Section C - Question number 10 to 12 are 4 marks questions. These are
short-answer type question. Answer to these questions should not exceed
80 words.

(vi) Section D — Question number 13 and 14 are 6 marks questions. These are
long-answer type questions. Answer to these questions should not exceed
200 words.

SECTION A

1. Read the source and answer the question :

Urban luxury manufactures like the high quality silks and cottons of
Dacca or Murshidabad must have been hit first by the almost
simultaneous collapse of indigeneous court demand and the external
market on which these had largely depended. Village crafts in the
interior and particularly, in regions other than eastern India where
British penetration was earliest and deepest, probably survived much
longer, coming to be seriously affected only with the spread of railways.
(Sarkar : 1983 : 29)

When British took over states and towns of India, some of them lost their
courts, artisans and court gentry. Give any one reason. 1

2. Read the source and answer the question :
Ways of thinking

..... John Stuart Mill’s essay ‘On Liberty’ soon after its publication became
a text in Indian colleges. Indians came to know about Magna Carta, and
the struggle for liberty and equality in Europe and America.

Mention the kind of Westernization being referred to in the given source. 1
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AN Fgd-Hl Hipiqe WHI R Ieh YRRl W HMN T IEYH B B
TR 3R ATEpdeh qHadT 98 &9 § ThH-gHL 8 ¢ U 8 | 9N

fafi &t § 7998 & ER J&F €9 § HHd Hled o GHI FAC I & |

(a) “FfY Ta GEHd & o= Tk 98 §99 g |7 G T¢ Foq & q9eq § Th
RO AT |

(b) gl Q PN Fafed @gri o 9 fafey |

I TG H Ueh T THT Toh At HH[geh TSl ohl TE9Fehdl gl

3 | U nfafafeat g osw % fowg @it  deun v At Hifa qun R @

qREc 6t A HdT 3 | TATRd A1 FEAST oYl AW JGred gl
g Hohd |

(a) M 3Tele & whls ol deu fafEe |
(b) TrH we efra AT =1 3w ST |

“GSitarg o A ¥ T8cl o GIHTST 3T YSiiarat QR o S § Tuede Tl 7 |7
I Fd18T |

“FEeplaeRTuT T STTURIN Teh UH UTEY ol Hal SgUdl & Sl SLTda ST
S AT W AT B 17 39 HAF o gHH H & SR ST |

faft yopr & ouTer gures AgieHl B $9 fawerta samad off | Wy wny &
3T HE@qUl sTEeniaal ot off | 1% q rEEniaat Sasy |

(%) SlideHTcHe 31dT FUTAUhN TS e {8 Had & ? Tsh IS
it |

AAqAT
(@) YuraTd amiiee ATererl & 1 aread ® 2 Ush 3eTel difre |

“aTli ATl o Ty SIae IR A o SR §3T1 ST W0 Th haid
Hg_l.gn.l”

1+1

1+1

Tl & IR aNl § YR Ugarte 3 iR ol fohd R seran fean 2 2
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SECTION B

Many of our cultural practices and patterns can be traced to our agrarian
backgrounds. Structural and cultural changes are closely inter-related.
Most of the New Year festivals in different regions of India celebrate the
main harvest season.

(a)  “There is a close relationship between agriculture and culture.”
Give one reason to support the given statement.

(b)  Name any two agriculture related festivals.

A social movement requires sustained collective action over time. Such
action is often directed against the state and takes the form of demanding
changes in state policy or practice. Spontaneous and disorganised protest
cannot be called a social movement.

(a)  Write any two features of a social movement.

(b)  Give an example of a Dalit Movement.

“There is a vital difference between the empire building of pre-capitalist
times and that of capitalist times.” What is this difference ?

“Sanskritisation seems to justify a model that rests on inequality and
exclusion.” Give two reasons to support this statement.

The varied social reform movements did have common themes. Yet there
were also significant differences. State any two differences.

(a) What are Redemptive or Transformatory social movements ? Give
one example.

OR

(b)  What is meant by Reformist social movements ? Give one example.

“For Indian nationalists, the issue of economic exploitation under colonial
rule was a central issue.”

How did Indian nationalists promote industrialisation in the early years
of independence ?

1+1

1+1

Page 5 P.T.O.




10.

11.

12.

13.

14.

62

Qg 1

HTY o SATFTHRHRTT § HAGU hl TR (AHATH) 8 g3 ? 4
(%) TH HaFell & HEATN Dl TSR ¢ T aliepl f9F BIaT & | 39 lleh ohl
T I | 4
T
(@) “Aeries JaYa sdew it SaTEAT I | 1980 % g H SR YaEH
o T T hIF-H STSEAT ST FEHTA TohAT 7T o ? 4
“afoer wdt Tghd o HhRIcHS AT ThRIcHS IggT 1 IgE HiT | 2+2
Qs u
(%) TSATA TR ATATEG] H I 3Tk 8 2 1982 § sa3 Jaaesal fieti ot ufig
gSdTcd hl ==t Shifalg | 2+4
Ao
(@) W W fora IH aren & AdeEEn/id 1 TEaye TE 7 |
3SR <d §C FHEASY | 6
yTitfefaehlal STle U WMo STigie 1 3¢eW & a1 U+ dHIReh
TG o1 ? TI9eh! STTRITH 1 3QTETT ad U IUATh oh! ARSI HIfT | 1+5
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SECTION C
How did commercialisation of agriculture lead to circulation of labour ? 4

(a) dJob recruitment as a factory worker takes a different pattern.

Explain this pattern. 4
OR
(b) Explain ‘Scientific Management’ system. What shift from Scientific
Management took place in the 1980s ? 4
Mention the positive and negative aspects of ‘contract farming’ system. 242
SECTION D
(a) What is the difference between a strike and a lockout ? Discuss the
famous strike of Bombay Textile Mills of 1982. 2+4
OR

(b) Home based work is an important part of the economy. Explain by
giving an example. 6

Are ecological movements new or old social movements ? Explain the
above using the Chipko Movement as an example. 1+5
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